ASSIGNMENT-1
B.Com. DEGREE EXAMINATION, APRIL / MAY- 2025

Fifth Semester
ADVANCED CORPORATE ACCOUNTING

Maximum: 30 marks

ANSWER ALL QUESTIONS

. Business purchase.

25"23306 E250Ren.

. Transferor company and Transferee company.

288 o3 Lond 2089 Daaad Lond.

. Internal Reconstruction.

905 g ed @é@@ésa:boo.
Consolidated Balance sheet.

285y es?) epe D¢

. Liquidator.

©8¢G e,

. Non-controlling interest.

DASroehes B 7°8 €398

. Preferential creditors.

e;s@éé{g) 2000£9T°ed €.

Consolidation and subdivision of shares.

Toere DEEEm, &DI8®D.
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1. (a)

(501BCO21)

ASSIGNMENT-2
B.Com. DEGREE EXAMINATION, APRIL / MAY- 2025

Fifth Semester
ADVANCED CORPORATE ACCOUNTING
Maximum: 30 marks

ANSWER ALL QUESTIONS

What is meant by purchase consideration? Explain the various methods of

calculating purchase consideration.

DHB0H0S.

(b)

0% (DQPO0 DTN SRy (D)) B8),00 dDE DG B0

X and Y carrying on business in partnership sharing profits and losses in the
ratio of 2:1 wish to sell the business to a limited company on 31st March 2024
on which date their Balance Sheet is as under:

Liabilities Assets
Sundry creditor 45,000 Cash at Bank 8,000
Reserve fund 45,000 Sundry Debtors 1,20,000
Capital Accounts: Stock 1,62,000
X 1,40,000 Motor vehicle 24,000
Y 1,00,000 Furniture 16,000
3,30,000 3,30,000

Teja Ltd was registered with an anthorised capital of 6,00,000 in equity
shares of
10 each to acquire the business on following terms.

(1)  Goodwill is valued at 75,000.

(i1) Furniture and stock are revalued at 14,500 and 1,74,500 respectively.
(i11) Debtors are subject to 5% provision.

(iv) Motor vehicle is not taken by the company.

The purchase price is paid by issuing equity shares of 10 each. Show Journal
entries and Balance sheet in the Books of company.

X 508050 Y @0 grideghog amprd oS’ ergfdapond 2:1 @S’ H0H0500ear b
ToroeR) 28 OWEBE oS 31.8.2024 5 @IRBDHE. & HBI 76 &Y ehye
26} 1808 Do éyB.
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QPO 8oe. SISVOV 8oe.

DD WEITS 0 45,000 gr008>65® 980 8,000
BesBog OB 45,000 o9 ¢ 200083 /{0 0 1,20,000
DATCO D gPeTeen: VBE DS 1,62,000
X 1,40,000 3500 ips0 24,000
Y 100,000 8,555 16,000

der OQBEDY 10 dend Ko Se85ed Trerod’ 6,00,000 @85y Toerdare $H0s”
B> BV TR (808 Do SWEEeINE.
(i) H0EISD 75,000 0¥ dend ELHBH.

(i) DGHK, VBB DBV 14,500 508050 1,74,500 05 S8R Dewd

Ee0DBH.
[SN]
(111) e 5% orQer8e DB bd{gdéé@éo.
1Av)  DIPersd ToTTERY 00 HEK0e B&o.
ooy 800 10 © Devd Ko Ha8ged Trerody 3Yodmrdd. K0Dd PHIsres®
DT DEIOD) 652 AP DI SAITEIDA0E.
[Ch] @ -0 [A)
2 (a) Define Amalgamation. What are the entries to be passed to close the books
when it 1s amalgamated by another company.
QVOBINO V0D ¥ KoNDD DEE  KodD  DoBrKo  DAEIK)PE
DrAED S0DVS® DerHEB?
(b) The following is the Balance sheet of ABC Co. Ltd as on 31st March 2024.
Balance Sheet
Liabilities Rs. Assets Rs.
Share Capital 20,000 2,00,000 Land and Buildings  1,00,000
shares of 10 each
Reserve fund 25,000 Plant and Machinery 1,50,000
Dividend equalisation fund 10,000 Furniture 2,500
Workmen compensation fund 10,000 Stock 60,000
Profit and loss surplus 5,100 Work in progress 30,000
Debentures 1,00,000 Debtors 25,000
Creditors 30,000 Cash at Bank 12,500
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~ Cashinhand ~ 100
3,80,100 3,80,100
The company is amalgamated in the nature of purchase by XYZ Company
Ltd. on the above date. The consideration for amalgamating the company is
taking over debentures, the trade liability and a payment of 7 in cash and
one share of the face value of 5 in XYZ company at market value of 8 per
share in exchange for one share in ABC Company Ltd. The cost of

liquidation 500 is to be met by the purchasing company. Pass Journal entries
in the books of purchasing company and its Balance sheet.

31.3.2024 5 ABC 5020 92088& Bn¥), e eqpe 96 1808 Do &58.
3R Qo D

(v

SISOV 3o°. SISV 3o°.

T 0050 20,000 200,000 555500, gsaren  1,00,000

Jeere) 10 © end Kol

&amocsy WsrbEys 08 10,000 5856, 2,500
528800 DY DB DY 10,000 565555 Deg 60,000

g Dapo Fre O 5,100 &753eR5e00) 9 30,000

GBOoBYY 1,00,000 20083 &0 25,000
2000ETIVEH ) 30,000 greoxe® 08 12,500
DAS® DN 100

3,80,100 m

2 835 P 502dD XYZ £0d §0oRen DoSoo w0 WodBIPK0 BR0E w8
DFo00DIB. T8 (DYoo GBoVE) DY ey SWE ABC EondSD 198
28 TeerEd oot XYZ oD a¥ Teer 5 © dended oeer O § :sJ"BbeS_
De0d 8 TP @B DA T TP HHBIR0 DY08. O8BAS S50 500
EP%0R o0 od 48008, §%0Rten Eond YIses® DOT IO, &Y VYO
G0 SATEBA0E.
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3. (a) Explain the various provisions of capital reduction according to Companies

Act 2013.

gondo béégo 2013 (23280 PO eéﬁo@éo 000080 DY DV0LBION

HB80H0S.

(b) The Balance sheet of Zinc Ltd as on 315t March 2024 was given below.

Liabilities Rs.

Share Capital 4,000 pref. shares  4,00,000

of 100 each

8,000 Eq. shares of 100 each 8,00,000

5% Debentures 2,00,000

Bank overdraft 1,00,000

Creditors 2,00,000
17,00,000

Assets Rs.
Goodwill 30,000
Premises 4,00,000

Plant and Machinery  6,00,000
Stock 80,000
Debtors 1,00,000
Profit and Loss a/c 4,90,000

17,00,000

The company adopted the following scheme of capital reduction which was

duly approved by the court.

(1) The preference shares and equity shares are to be reduced to 75 per
share and 37.50 per share respectively.

(i1) The debenture shareholders agreed to take over stock and debtors in

full satisfaction of their claim.

(i11) The goodwill account is to be written off

(iv) The premises to be depreciated by 50%.

(v)  The value of plant and Machinery to be increased by 50,000.

Pass Journal entries to implement in above scheme and prepare revised

balance sheet.

31.3.2024 5 208 dWBE Book), e R D& BHODDADEDE.

9PV
DT DA G0 4,000 e;e@é?s@ POCREION)
&?bébéf)
100 ® S"pd

8,000 5e8ge3 Treren a.5°)%)63 100 STQpS

8o°. eﬁ‘{o_oooo 8o°.
4,00,000 xy,E9& 30,000
8,00,000  eg355e501 4,00,000
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5% &BoHE 2,00,000 3005, 6,00,000

0300 |e3°)
08 896 (&Y 1,00,000 %55 80,000

Q)"?;SE@%O groeT 4,90,000

17,00,000 17,00,000
oD 1808 HoTreEd éﬁo@ APZ°R) ©HO0POD §6€$€3 ST FoBI8.

() @8R Treren, Seodged Trered HKHWT Ter 08 75 0, 37.50 o
éﬁoéé@éo.

(i) &EBodSomsoen ;88 THOVD BwerdS P8 HBax)Korr KL,

2008310 000 HEIE08 ©oREBoIT ..
(i) M&ISBO EEIDEHHBD0.
1v) esd8eeod 50% éﬁoéé@éo.
V) 2060 A50(°® DD 50,000 DOBIBD0.

P DETR) B0 JANERS FVERON PR S8y Jahdd &y edpe
DD HATEBAOG.

4. (a) Discuss briefly advantages and disadvantages of Holding Companies.

Sscegoﬁ E0RO ergfdapedy Lo dHBovod.

(b) The following are the Balance Sheets of XY Ltd. and AB Ltd as on 315t March
2024.

Liabilities XY Ltd. AB Litd. Assets XY Ltd. AB Ltd.
Share Capital Shares 3,00,000 80,000 Buildings 2,75,000 50,000
of 10/- each
General Reserve 60,000 25,000 Sundry Assets 90,000 1,20,000
1.4.2023
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P and L A/c on 45,000 10,000 Debtors 80,000 30,000
1.4.2023

Profit during the year 95,000 34,000 Shares in AB 1,40,000 S
2023-24 Ltd. 7,000
Shares @ 20
each
Creditors 85,000 51,000
5,85,000 2,00,000 5,85,000 2,00,000

On 1st October 2023 XY Ltd acquired 7,000 shares at the rate of 20 each in AB Ltd.
The debtors of XY Ltd included 10,000 due from AB Ltd. Prepare consolidated
Balance Sheet.

31.3.2024 5 XY O08&, AB 9208& o &) ey Dede (808 dEorne émp)omw.

e9)en XY 908&. AB e300 XY AB
ABE&. OWBE. AWBE&.
TeeT® Do Do 10 3,00,000 80,000 55000 2,75,000 50,000
o eroS
1.4.2023 & peSes 60,000 25,000 9965 esyen 90,000 1,20,000
823808
1.4.92023 % 45,000 10,000 555310000 80,000 30,000
@eﬁé%@ Qre3
2023-24 Dol erg5o 95,000 34,000 AB @@3&st  1,40,000 —
7,000 e
2.87),%),63 20
D AP
A 85,000 51,000
5,85,000 2,00,000 5,85,000  2,00,000

2023 @828 0 5 XY d088& S 7,000 rerod 287863 20 STpd AB
OWBE STHoR*en B0HB. XY d8B&E awes|fos® 10,000 AB d08& H500é
oSO BB EO G, 8Ky ey e DD SATSHBA0E.
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ADID08.

(b)

What do you understand by the Liquidator’s final statement of account? Give
a proforma of such an account with imaginary figures.

O8esd 08 Frer JDAE OIMTIN? &Lrodd @03’ D DT

Alpha Limited went into voluntary liquidation with liabilities amounting to
3,00,000. The assets realised 17,80,000. The capital of the company consisted
of 1,00,000 preference shares of 10 each 7 per share called up and paid up.
The holders of 80,000 shares had however paid the full 10 in advance of calls.
There were also 1,00,000 ordinary shares of 10 each on which 9 per share
had been called. Holders of 20,000 shares had however paid only 8 per share
while holders of 40,000 shares had paid the full amount of 10 in advance of
calls. The preference shares have no prior rights to capital. The cost of
winding up amounted to 20,000. The calls in arrears are fully collected.
Prepare the liquidations final statements of account.

wer) d08& 3,00,000 esypees® 285D @U‘aﬁ)oa esgen @Sy 17,80,000.
HTPe0 DVIB. o HDoredsHo 1,00,000 & QEFYTeTeD 2.57,8),83 10 © deod
K08 7 SYPpd oD 3odwdmrown. eowd 80,000 Treren e arer 08 10
DYPD VYO 0L JArBHB. 1,00,000 eSes Treren 287563 10 ©
DEVINOY &0 T3 DS e 08 9 TYPR VOIVEIS. 20,000 Teeren SORD
Toererdoen rer 08 8 HordRn 2900, 52D 40,000 Tered SORD
Trererdoen e 08 10 © STpN) enYep Jod 3o, 1A
PN ALOSISISS) :bwedémg)& HE oSt &séééeééc‘,ﬁo. CSCSCS) gpdoae)o 20,000
BONT°ON. DVYOP VS0V JPBT HArBTron. O8Gesd BB grer

N BED HOSIEIDAI0E.
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ASSIGNMENT-1
B.Com. (GEN/CA) DEGREE EXAMINATION, APRIL / MAY- 2025

Fifth Semester
SOFTWARE SOLUTIONS TO ACCOUNTING

Maximum: 30 marks

ANSWER ALL QUESTIONS

. Advantages of spreadsheet software.

L"@&%xeg @1@35 BE), (HBICBT0.

. Applications of Tally in MIS.

MIS &° 638 e800).

. Advantages of Quick Books.

‘858 208y B (HBIresren.

. Components of Gateway of Tally.

ReS -3 - 35 6720 wozren.

. Steps for data back in Tally.

78 € — 98’ ¥ o SBen.

. Various types of vouchers in Tally.

e® D5rH0S° DD BEH0BDH SH8y.

. Debit note and credit note.

EOESES 208050 BEES 5.

. How Trial Balance displayed in Tally?

edS® @OEETR0 @ DEOM BIDIE?



(502BCO21)

ASSIGNMENT-2
B.Com. (GEN/CA) DEGREE EXAMINATION, APRIL / MAY- 2025

Fifth Semester
SOFTWARE SOLUTIONS TO ACCOUNTING

Maximum: 30 marks

ANSWER ALL QUESTIONS

1. (a) What 1s computerized accounting? State the major advantages of
computerized accounting.

CoJoge3E  ©F0BoR’ eDTRW?  LoJIBE @500 Hod  Senid

(RFPORD [DABICETO ).

(b) Explain various accounting features available in accounting software.

3 030N @vggiﬁ&ﬁﬁ 0?;552606305 DD 935 030N OEETOR) IDBoHosk.

2. (a) What is new in Tally ERP-9 software?
27 ERP-9 30386° 557056550 d20?

(b)  Write various features of Zoho Books.

Zoho Books GB0%); DIESI0B D 055000050 [@°050d.

3. (a) Explain various steps in creation of company.

2. E00D ErdroBB0e0S® Ko 99 S$8050 9980508.

(b) Explain various steps in ‘shut’ of company and ‘delete’ of company.
S0 ‘shut’ Dosnensd H508030 ‘delete’ DoJeIEITR0 DL SBO[D KJ"Q)
dHBoN 0.

4. (a) Explain the process of ‘creation’ and ‘alteration’ of accounting groups.
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(b)

5. (a)

(b)

©3°0e30R (PYed BaE); BIrIEeD’ HoBAsw ‘DIEew’ DS (HEKH K38
9580H06.

What do you mean by Inventory Masters? What is the need of Inventory
Masters.

350608 SR8y ITDA? FRg0eB HIREy Bovk), eNBgED IN?

What do you mean by voucher in Tally? Name different types of voucher
available in Tally.

e rHoSt ‘SHEY edTD? erdS 5Py DD BED0GD Sséé(g,éo
K38y Bevod.

How Balance sheet can be prepared in Tally?

erd QoS 8 8P Z)eéfo Do BP0 B 50.
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ASSIGNMENT-1
B.Com. (Gen)&(Comp) DEGREE EXAMINATION, APRIL / MAY- 2025

Fifth Semester
INCOME TAX ASSESSMENT PROCEDURE AND PRACTICE

Maximum: 30 marks
ANSWER ALL QUESTIONS

1. An individual 56 years earned taxable salary income Rs.12,50,000 for the year ended
March 31, 2023. Find his tax liability under new tax regime.

58y 31, 2023 H05ey550095% 958 D6 Doss s @8d dso B00d emravn &,
12,350,000 eses 50 305022 959 Jooeho (876 D 9o DES (95750 B0
2. Examples of casual incomes how losses from these sources are used to be set off?

AIEyNNE STOIITOE GEPIrSEINN) 30D D Hoo& Do SPSBAVORS ?;5§ Dasw DEBD
9H80H0k.

3. How advance tax is computed?

H0EIT DY0DHOVD DIYD D G0 B) 08080
4. Self Assessement.

QLA DAY X)cg;dsa.
5. Purpose of (TDS) tax deducted of source

TDS S0 éé%gboo.
6. Tax rebate U/S 87A

255 87TA 570l 890 (D5°850 85805
7. Person U/S 2(31) of IT Act.

a0 Dy B0 PES 2(31) wsessw Hg8
8. Income from sub letting of H.P

GITe0 H00% SATPD Q.
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ASSIGNMENT-2
B.Com. (Gen)&(Comp) DEGREE EXAMINATION, APRIL / MAY- 2025

Fifth Semester
INCOME TAX ASSESSMENT PROCEDURE AND PRACTICE

Maximum: 30 marks

ANSWER ALL QUESTIONS
1. (a) From the following particulars compute total income of Mr. Narayana for the year
ended 315t March 2024.
Rs.

Basic salary 2,40,000
Dearness allowance 60,000
Pension 36,000
Special allowance 18,000
Rental income from let out house property 3,60,000
Repairs and collection charges 70,000
Profits from restaurant business 1,50,000
Loss from cloth business 60,000
Long term capital gain 82,000
Short term capital loss 46,000
Interest on securiting 17,800
NSC VIII issue subscribed 20,000

Medical insurance premium paid during current year 16,000

Donated Rs. 30,000 to A.P CM. cyclone relief fund

30, 5525 2024 § 7rorcsres 8D aQYS DHSBNO 008 @D I 0 BEALDN KEad DASWH.

&oe.
BP0 BehHd0 2,40,000
K80 eebgHd 60,000
RISHS] 36,000
X
L‘:Jé?sg SIREW 18,000
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(b)
2. (a)

(b)
3. (a)

(b)
4. (a)

8oe.

Q8N YR B00G eTPaddN 3,60,000
DOBHRBY OV HO8ASW Y HAcen TPed 70,000
B B0ES TS0 008G STARIDD 1,50,000
s(j:e; TogrE0 06 DPH0 60,000
ég 58 DePG eed0 82,000
ALY 5POE eyt HPDN 46,000
wErBde P DG 17,800
SO D¢80Y Dierew VIII &8 p Deyad 20,000
(D9 D0De)T0S" P iy HHT (MRG0 ot BY0DHE 16,000

BO(B[HVT HYPFI0® PE® VA% DY dT°¥o 3Y0dIB 30,000

Explain the conditions for claiming deduction of remuneration to partners.

PO FBSAEDHN BY0YE V020FoDH DLOFH DHBOYHW.

When an individual is assessable in respect of remuneration of spouse.

2 DOBEY5NS® B g eTrafINn D& H58 erraHNS” N Hoenod.

Enunciate the conditions to set off and carry forward of losses from the head capital
going.

DePae 30Y 1808 DD B 50BN 500K WY (DB D020809D
D200 B AT BOOR DHBOYDW.

Explain about appellate hierarchy.
DO IHBO DANEIK). DHBE BAINESIE Dedoed ey Y8 H@BLore 92120 DTS

Write in brief the consequences when advance tax is not paid.

G50 68y DY0Y DA’ T3 DEFHAT 0D BLOYDHW.

Write in brief about on line filing of returns.
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880 Do Beobyen K6y gynom dHBoHod.

(b) Can return be filed beyond time.

0% BeB)e0 M) B8 S8ITe Tren DO HBYT®. T°63 VFHI T D BeYI.

5. (a) Explain about time of deposit of tax collected at source or TDS.

TDS S TCS &are2ed DD DH0a3050 738 DHBoYDw.

(b) When and how tax is deductible from rent?

©8 D0 (DEANS® Y HIBAM  DFDM SRoYen BENOS® 9HBoBHod.
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ASSIGNMENT-1
B.Com. (GEN/CA) DEGREE EXAMINATION, APRIL / MAY- 2025

Fifth Semester
GOODS AND SERVICES TAX WITH TALLY

Maximum: 30 marks

ANSWER ALL QUESTIONS

. What is dual GST model?

850¢55 GST HB5T°me e MeHR0?

. Documents required for Input tax credit.

AV DY BAOK M0 e3DFGEIN Dieen.

. Give general features of Tally.

IR) BE); S OFETON BeOV0G.

. Single ledger creation in Tally.

erd) DpedHosSt HY SHP Er0B5eS

. What are stock items in Tally?

erd) S D505 @ozeen D972

. What are payment voucher?

290 B8 I IW?

. What is the need for tax return?

D9) Beasyen Bw); esHBES D07

. Penalty for late payment under GST.

GST 808 Ko &8 Y0P M0 DTS Eovo.



(504BCO21)

ASSIGNMENT-2
B.Com. (GEN/CA) DEGREE EXAMINATION, APRIL / MAY- 2025

Fifth Semester

GOODS AND SERVICES TAX WITH TALLY
Maximum: 30 marks

ANSWER ALL QUESTIONS

1. (a) What is GST? Give its advantages and limitations.

GST e95m20? GST H0d (DBIrasmrod) Ho8050 D8ed) dendod.

(b) What do you mean by GSTN? Discuss its objectives and features.
GSTN @93mR0? @°0 Bas); éér‘oﬂé@éo S0BA FETod H8)0Hok.

2. (a) What is Tally? What are the benefits of Tally accounting software?

e @BTIN? rd 3 0e30R P8 BoE); (HBIBIDHNO ID?

(b) Explain the concept of Accounting ledger. How ledgers are created in Tally?

ea?’boef’)oﬁ SHTO DO 9580508, erd dprHost eséc"?)oéo Ao
Er 0B E?

3. (a) Show various steps of recording purchase entry in Tally.

e e oSt £ en PO HIT DAL TR0 DD BBOD) JTH0E.

(b) Write a detailed note on Debit Note and Credit Note vouchers available in
Tally.
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4. (a)

(b)

5. (a)

(b)

) SERRIEIY G5 SYOO 508030
BES Seep Togvo @008,

Explain various rules related to filling monthly return (GSTR-3).
S8 8e08y) (GSTR-3) 290M5 D020B0D D DNOEHOH dHBoBo&.

What is the need of filling return? Explain the key features of filling return
under GST.

Beo8000 POoM Batne ot esdBEIN? GST 1808 ey POOALD
T30 808390 oFeTeRs K8y 9980%08.

What is payment challan? What are salient features of payment challan
under GST?

3doPen Derar (S20) @dmIN? GST ol 3doe Derdr Bok),
HTOEID OFeTer ID?

Define penalty under CGST. Explain various provisions in the regard.
CGST (808 @DT°E S0W00 JEDOYIN? &8 V000R0DS DD EINS S
DTNeID0 KBy DHB0HOG.
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ASSIGNMENT-1
B.Com. (Gen.) DEGREE EXAMINATION, APRIL / MAY- 2025

Fifth Semester
LIFE INSURANCE WITH PRACTICE

Maximum: 30 marks

ANSWER ALL QUESTIONS

Short note on plans of life insurance.

2D PIT° DPSOP a8 DY) S5 o°A0G.

. Role of middlemen in life insurance.

R PIITS® PGB (0 denod.

Social security scheme.

PATPRE 8I|E3e° DPEO0.

. Principle of subrogation.

GAVOIPTEY AI°|H0.

. Features of whole life insurance policy.

BIS°0 PIT° B, OFETLL dHB0VOE.

. Modes of premium payment.

B20aso0 390 Z)geéoen.

. Problems in claim settlement in life insurance.

29ed DS°S® claim settlement &° [SSNISIOM

. Define Health insurance.

3855 DHIPH0 DELD0BIDW.
S S
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ASSIGNMENT-2
B.Com. (Gen.) DEGREE EXAMINATION, APRIL / MAY- 2025

Fifth Semester
LIFE INSURANCE WITH PRACTICE

Maximum: 30 marks

ANSWER ALL QUESTIONS

1. (a) What is life insurance? Explain its Advantages and disadvantages.
B9ed DHT° 9DMRHA? 8BJeh PIT° [DBICESILD @[DFBICETPORN) DHBOBIDNW.

(b) Define Group Insurance? Discuss the characteristics of Group Insurance
Schemes.

Group Insurance @307 Group Insurance D500 BE); o&gTTe e%e)o)oc%.

2. (a) Explain various life insurance plans.

b DAT° DEH5OR0 IHB0H0E.

(b) Describe various companies life insurance policies under term life insurance.

2ed AT Li)fsé'?‘.)eg DI 8570 00D DT7)H0D00.

3. (a) Explain the principles of life insurance.

BII° W) 9980506,

(b) What is premium in insurance? Explain modes of premium payment. What
factors are considered in calculating premium?

2 (505BCO21)



4. (a)
(b)

5. (a)
(b)

D000 eRTBN? DAAHOR BEFey IDE Db SIABFIR, D

90BPORND 6§b§é_é§ DEPH0R0 HVEI0eTE0?

What is policy claim? Explain the procedure in claiming insurance policy and
problems in claim settlement.

Policy claim @5mR0? @°0 BwE); DB dF°Tren Ho8050 VDIV eVYI.

Discuss about Survival Benefit.

055 BODEKYHO Hrggorr SN0k,

What is life insurance riders? Explain various kinds of insurance riders and
much about Accidental Death Benefit Rider.

Life insurance &° riders edma? dDE 50 IITBAY0  IHBIAX,
Accidental Death Benefit Rider S0 0500 @°03006.

Explain the Regulatory frame work of IRDA.
IRDA 2050 (pa08); £°8y 95803906

3 (505BCO21)



ASSIGNMENT-1

(506BCO21)

B.Com.(GEN.) DEGREE EXAMINATION, APRIL / MAY- 2025

Fifth Semester

GENERAL INSURANCE PROCEDURE AND PRACTICE

Maximum: 30 marks

ANSWER ALL QUESTIONS

. Define Insurance.

PIT°0 DEGD0HIHN.

. Sharing of Risk.

v, A9
é&x H0DES.

. Comprehensive Insurance.

(520D PDHI°.

. Premium.

fb:bojoo.

. Crop Insurance.

Doy HHo.

. Live stock Insurance.

D30 HHIe.

. Short note on Riders.
3¢5 K802 Vg)ABNT R 0D,

. Role of Insurance Industry.

PAI° (DB[ED0 BE); (<.
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ASSIGNMENT-2
B.Com.(GEN.) DEGREE EXAMINATION, APRIL / MAY- 2025

Fifth Semester

GENERAL INSURANCE PROCEDURE AND PRACTICE
Maximum: 30 marks

ANSWER ALL QUESTIONS
1. (a) Explain the various principles of general insurance.

PR PIT° B0E); W@ DIBoHok.

(b) Discuss the functioning and process of IRDA.
IRDA &Ba0%); D0HE H508a50 (280500 99B0oHok.

2. (a) What is motor insurance? And also write various types of motor insurance.

TR DHI° XTI DD F5°0 TTPD PDIPen K080 [TPasnHw.

(b) Write about the importance of Motor insurance India.

PrESBFOS TR PIT BowE); FedwRgH Be)os.

3. (a) Give the meaning of Fire insurance. and also mention the types of Fire
policies.

®R) PIT° BIMDN? DG 8570 off) PHTeD HBoDoG.

(b) Explain the various practice of fire insurance in India.
PSS DBF0S VBN ef)dHr K)g 5000 (1D180%0) DHBoYDwW.
4. (a) Define crop insurance. What are the problems of crop insurance?

D0DHIZ00 DEFD0DIH? D0ty PHIS® DDoVgEn HHBOYD.
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(b)

5. (a)

(b)

Discuss the considerations in Crop Insurance.

D0LIPITEL BoE); VBN R (|Ptyrseen) - W8 ovok.

Explain role of Health insurance in Insurance Industry.

DI DEFHS” B HDIT BoE); F(ehd0 DHBOYDHW.

Discuss the claim settlement process for Health Insurance Reimbursement
Claims.

6:9562'{525?5\)"’ Reimbursement Claims &0 982,80 claim settlement (9805000
$8yoHod.
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